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General Instructions:

1.
2.

3.
4.

All questions are compulsory.

The question paper consists of 31 questions divided into four seciions A, B, C and
D. Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each and
Section-D comprises of 11 questions of 4 marks each.

There is no overall choice in this question paper.

Use of calculator is not permitted.

TUg-37 / SECTION-A

T HEA 194 H TIF H7 1 3F T

Question numbers 1 to 4 carry one mark each ’
AABC &1 4SSl AB @1 AC W #Hw: fag D o E 39 WA Reud ¥ fr
DE||BC®! 4% AE=54cm, EC=3.6 cm 34T AD=3 cm @, & BD 31 =751 |

In AABC, D and E are points on the sides AB and AC respectively such that DE || BC. If
AE=54cm, EC=3.6 cm and AD =3 cm, then find BD.

& SIS : sinb.sec (90°—0)

Evaluate : sinf.sec (90°—6)

(sec26—1) . cot? T | F1d Hifeu |

Find the value of (sec20 — 1) . cot2

afg FgAF =10.6 R AFH = 115 ¥, U Ao Haly 1y 97 gU, e i R

If mode =10.6 and median = 11.5, then find mean, using an empirical relation.

EUE-d / SECTION-B

T HEA 5 W10 H TAF 2 &%
Question numbers 5 to 10 carry two marks each.
ST I 16 55 7% 11 x 13 + 11 Tk 9Fe T & a1 e wen 22
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Find whether 5% 7x11x13+11is a prime number or a composite number.

T fop fa %@Wmﬁm|

Write down the decimal expansion of 3135

, without actual division.

Tk WGF THHET 2+ 3y~ 12 =0 92w ¥ T A wF 3 Yaw witw fafge @ify 7

TR & g9 7 SAIHA Feo

()  TEid @ e (i) G Y @

Given the linear equation 2x+3y—12=0, write another linear equation in these variables,

such that the geometrical representation of the pair so formed is :
(1) parallel lines (ii) coincident lines

ABC U THfgarg fqet 8, fad ,B=090° ) R gEET B ACP @9 ABQ Ywiaif AC 991 AB R

i e 1 e ABQ wer e ACP % &Wel! 1 3 919 HIfST |
ABC is an isosceles triangle in which #B=90°,

drawn on the sides AC and AB. Find the ratio of area (AABQ) and area (AACP).
6 <1 A7 1d hifSTY, Safs

cos 0 059 _ _ 4% 0r< < 90° %1
1—-sin® 1+sinH
Find the value of 6, if
cos 0 €8 _ 4. 0ecp <90
1-sinf 1+sind . »
Wﬁwaﬁmwxaﬁmﬁm@mﬁ)ﬁ'&ﬁ%rtcieﬁrn's%‘:
AR (cm ) 140 W 145 #[150 H¥[155 T 1607 51
EXe1 g E2s| E2s
SR EEE 10 31 48 50

SHIET SHihel % FoT, U o aamar grof 797y |

Heights (in cm) of girls of Class X of a school are recorded as under :

Height (in cm) Less | Less Less Less Less than
than | than thapi than 160
‘ 140 145 150 155
Number of girls | 3 10 31 48 50

Make a continuous frequency distribution table for the above data.
WYUg-Y9 / SECTION-C

TR AT 119 20 H YA T 3 37 ¥

Question numbers 11 to 20 carry three marks each.

I HIY T TeA A FIT, a8 70 3R 125 A 9 ¥ W FHHw 5 5w 8 Y wa
Find the largest number which divides
A TETE ¢~ 8x” + 8x + k, TETE v — 2 oA T B S k 1 | 1 I
If x3—8x2+8x+ k is completely divisible by x — 2, then find the value of k.

T +2x —x" — 20 F T GEF 0, 1 991 - 1 ¥ T el Y= T i
If three zeroes of a polynomial x4+2x3—x2—2x
Frefafad e Tt g 31 faei fafy
2x+3y =7

3x—2y=3

are 0, 1 and — 1, then find all the zeroes.

@W'@Iﬁm:

http://jsuniltutorial.weebly.com/

Two similar triangles ACP and ABQ are

70 and 125 learning remainder 5 and 8 respectively.
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Solve the following pair of linear equations by the elimination method :

2x+3y=7
3x—2y=3

AABC H, F101 C HHHIT § | AfE BC %1 WeA-fawg D 8, o1 fifg HIRT BF AB = 4AD? = 3AC? %)
AABC is right angled at C. If D is the mid-point of BC, then prove that AB*=4AD?*—3AC%

AABCH AD LBC @91 AD?=BD x CD g Fifu faus ABC THah1I 1t ¥ |

A

B D

In'a AABC, AD is perpendicular to BC and AD?=BD X CD, Prove that ABC is a ri

Triangle.

D

A2 15 cot A =8 @ Tl Pty s T Fifeg

C

If 15 cot A =8, then find all the other trlgonometrlc ratios.

TegfieRT firg wifsmT 1+cot? —cosec40 =(.

Prove the identity :

1— cosze
1+ ccit2 0

1—cos“0

—cosec0=0.

ght angled

11 sie =1 m1ea 48 & qen Tt areRareT @ 9w 50 3 '@Granamlamyamaﬁﬁm

Eqi

20-30

30-40

40-50

50-60

60-70

e

8

6

X

11 Y

The mean of the following distribution is 48 and sum of all the frequencies is 50. Find the
mlssmg frequencies x and y.

| Class 20-30 3()—4() 40-50 | 50-60 | 60-70
urequenq 8 11
ﬁﬂﬁﬁf@ﬁmlboﬁgﬂm%ﬁf&ﬁﬁaﬁm (Sl o) =1 SAHFHR T FT
|:vﬁ<—ﬂw(aafr) 0-20 [20—-40 [40-60 |60—80 |80—100
| AET 15 10 35 50 40
TH ST 1 Sgerh 71 RIS |
The following data gives the information on the observed life times (in hours) of 150 electrical
components :

Life time (in hours) 0-20 |20-40 |40-60 |60—80 |80—100

Frequency 15 10 35 50 40

Find the mode of the distribution.

http://jsuniltutorial.weebly.com/

Page No. 3



_-"“'-\ N B B B - 4
N xh__\_ . & | B =

A CPBSE Coaching for Mathematics and Science

gug-2 / SECTION-D
v G 21 W31 H TOE b 4 3F T

Question numbers 21 to 31 carry four marks each.

21 agw@a@;rwawmwsnaaﬁﬁmfa@us,mzaﬁmm 1 Fguifed & W ITFA 4
FHW: 5,6 AT T

Find the largest possible positive integer that divides 125, 162 and 259 leaving remainder 5, 6
and 7 respectively.

22 . 4
B a@qa3x4—12x3+10x2+8x—8%€rw\/% aw—\E F1 o wf IS I B
2
Find all other zeroes of the polynomial 3x4— 1223 + 10x2 + 8x — 8, if two of its zeroes are \/;
and — \fg .
23 ekericauicale i cre kel 4

x+y=7
2x—3y=9 ‘
ERERCIER| amy—aamaﬁﬁrsﬁ%vﬁﬁ%ﬁ%ﬁ%maﬁﬁmamwﬁw £ 1 BHETTRT
HIT |
Draw the graph of the following equations :
x+y =7
2x—3y=9

Determine the coordinates of the vertices of the triangle formed by these lines and y — axis. Also
shade the triangular region.

24 mw&%%mwmv&mm%nv@mmﬁaﬁma@m% 4
2Fx THFT S 5 3T FH HT S WY G IS 5 3HE WGl & S aife TOHRT AT 1 2 THE 3N
aﬁg@ﬁzw@wﬁmmﬁw%&wmwﬁma@m%y araa 1 faaTd J| S
= & o et T ST 77
Shanta wants to make a rectangular park for children to play. The area of the park is
increased by 75 square units if its length is decreased by 5 units and breadth is increased by 5
units. Its area will be increased by 164 units if its length is increased by 2 units and breadth is

increased by 2 units. Find the dimension of the park. Why it is important for a child to play ?

25 fiw g o § PQ|[BA, PR|ICA #1 & PD=12 cm ¥, T BD x CD I I .4
A

A\
e
N\
B p C D
In the g\iven figure PQ||BA, PR||CA. If PD=12 cm, find BD X CD.
A

MR

B P C v D

26 2 it ABC 3R DEF & af AB, BC R Hiftaeht AX FHH: DF, EF 3iR #ifeest DY & §9{u@ 4 4
¥ 9 fgg HIfT i AABC~ADEF 1 e
In two triangles ABC and DEF, if AB, BC é/nd median AX are respectively proporﬁonal to B¥, bF

~——
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re
—EBF and median DY, then prove that AABC~ADEF.

27

28

29

30

31
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sinA, cosA, cosecA 3R secA Tl cotA & Y H e Fifeq | |

Express sinA, cosA, cosecA and secA in terms of cotA.

77T sech — tand = \/’E tanf %, IRty gq % sech + tan® = \[’5 sece%l
If secH — tanh = \/E tan6, then show that sec + tanf = \/5 secH.

95 =ifSe f+ .
( sinA 1- cosAj [ COsA 1+ sinA)
- : . : = 4 cosecA
1 - cosA sinA 1+ sinA cosA
Prove that :
( sinA 1- cosA} ( cosA 1+ sinA)
- - . - + = 4 cosecA
1 — cosA sinA 1+ sinA cosA
uF o & @ fegw o 150 faenfeai 3 v o) fernfefai ot emg e s d i R
i 5 7 A9 A1l A3 A1 ;A 17 oA
i}% o |7 | |wR | s | |
sfaw | sAfuw | sifyes aqfw} At | efuys | o1t
i:( rgj‘q:f ®
= 150 136 110 85 65 43 15

SWIE RSl W, Th ‘G A% & YFR' &1 aR0 a0 q9] 9 O TeAE J16 R0 St

IReFeT gRT 39! SiTe off ey |

A school held its sports dav in which 150 students participated. Ages of students are eiven in

the following frequency distribution :

Age tl\l/ll;);e xzrr\e gz;e More More More More
. 5 than or | than or | than or | than or
(in o or o equal |equal |equal |equal
years) | equal jequal jequal | Ly 1y hat s | 017
to5 to7 to 9

Number

of 150 136 110 85 65 43 15
students

For above data, draw a “more than type’ ogive and from the curve, find the median. Verify it

by actual calculations.

=1 Jaror o Sfaal 1 ol qui § 1 3fE SRSl F1 FgEF 157 cm €, O x T A FId FRifoC |

SEH 140- | 144- | 148- |152- | 156- |160- | 164- | 168- | 172-

(em®) | 144 [148 152 |156 |160 |164 |168 |172 | 176
—

A 17 35 |80 |143 |«x 129 (20 |25 |1

Height 140- | 144- | 148- | 152- | 156- | 160- | 164- | 168- | 172-
(in cm) 144 | 148 |[152 156 |160 |164 |168 [172 |176
Number

of 17 35 80 143 | «x 129 | 20 25 1
persons

http://jsuniltutorial.weebly.com/

The following observations give the heights of some persons. If mode of the data is 157 cm,
then find the missing frequency x.
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